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ECOGREEN ONLINE COURSE 

THEME 4 –  POST-VIDEO QUIZ QUESTIONS 

 
1. Why is today’s industrial agriculture a big part of unsustainable economics? 

▪ Because the energy and material input for today’s industrial agriculture is far more 
than its output  

▪ Because it does not produce high enough yields to feed the world 

▪ Because it accounts for 80% of all deforestation in the world  
 
2. What are core foundations of industrial agriculture? 

▪ Large-scale production  
▪ Profit orientation  
▪ High use of manual labour 
▪ Dependent on chemical fertilizers and pesticides  
▪ Frequently linked to violence and human rights abuse  

 
 
3. What are core elements of community supported agriculture? 

▪ producers stand in direct contact with consumers and vice versa X 
▪ a community who shares both the benefits and risks of food production X 
▪ Because wealthy members pay their fair share others can afford to pay only 

half or less X  
▪ The community exists only for the goal of efficient food production 

 


